G4 Gruppe
91, g2 Erzeuger von G,
x,y € Z/qZ Eingaben

Alice \

\ Bob

xq € Z/qZ zufillig
Ja=gi" # 1

Talph

93 = g," =91

a € Z/qZ zufillig

Pa = gg = g?’xaajb
Qa = 9195

P/ = gt

Qu/Qu = 91" g5
R, = (Qa/Qb)za

Ryp = RZ:‘L

Ray, =" P,/ P,

Ga> 9b
Schnorr
Kenntnis von
T4 bzw.

Paa Qaa va Qb
Okamoto
Kenntnis von
a,x bzw. b,y

Ra7 Rb
Chaum-Pedersen
Bew. der Gleichheit

logg, 9a = l09q, /q, Ra
bzw.

logg, 9y = 109q /@, 1l

VERIFIKATION

xy € Z/qZ zufillig

g =g{" # 1

g3 = g:b — gfaxb
b € Z/qZ zufillig
P, = gg = gllmawb
Qv = gb94

P/ = i

Qu/Qy = 91" g5~
Rb = (Qa/Qb)mb

Rap := R(fb

Ray, =" P,/ P,




